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companies decide to use corn to produce fuel. At the same time, climate change is increasing the cost
to grow corn; farmers have to use more fertilizer, insecticide, etc. What will happen to the
equilibrium price and quantity in the market for corn in the world?

a. The equilibrium quantity will increase but the equilibrium price will be uncertain.
b. The equilibrium quantity will decrease but the equilibrium price will be uncertain.
c. The equilibrium price will decrease but the equilibrium quantity will be uncertain.
d. The equilibrium price will increase but the equilibrium quantity will be uncertain.

12. Around 90 years ago, the main products of Taiwan were rice and sugar; a farm could be used for rice

rice in Japan greatly increased. What would happen to the equilibrium price and quantity of cane in
Taiwan?

a. The equilibrium price would decrease, but the equilibrium quantity would increase.

b. The equilibrium price would decrease, and the equilibrium quantity would decrease, too.
c. The equilibrium price would increase, but the equilibrium quantity would decrease.

d. The equilibrium price would increase, and the equilibrium quantity would increase, too.

table shows their payoffs in two scenarios. Which statement is true below?
a. If the government prohibits Peter from polluting the river, it will be socially optimal.
b. Ifthe river is John’s property, he must stop Peter from polluting the river to maximize his payoff.

polluting the river.

(FRE ).

11. Recently, scientists have developed an efficient method to transform corn into fuel, and some

production or cane (i) production. The rice was basically exported to Japan. In 1920s, the price of]

13. Peter’s factory produces a toxic waste by-product. If Peter dumps it in the river, he causes damage to
John, a fisherman. Peter can install a filter, in which case John will suffer no damage. The following

c. If John has the right to keep the river clean, Peter will choose to compensate John and keep

d. If Peter has the right to pollute, he will not to pollute the river because of John’s compensation
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Pollution No pollution
Peter US$ 1500/day US$ 1300/day
John US$ 150/day US$ 300/day

15.

16.

14. For the lunch box ({F'E) seller whose marginal, average variable, and average total cost curve in the

short run (in a week) are shown in the diagram below, how much profit will this seller earn if the
price of each lunch box is NT307

a. NTO

b. NT-10,000
~¢. NT-70,000

d. NT -80,000

Refer to problem 14. How much profit will this seller earn if the price of each lunch box is NT707?
a. NT 90,000

b. NT 80,000
c. NT 20,000
d. NT 10,000

NT /box . MC

ATC
JAVC

70

40
30

35

box / week

2000 3000

COMAC and Embraer are considering entering the market for narrow-body jets. The table below
represents the strategies and corresponding payoffs of the two manufacturers in different scenarios; in
each cell containing two numbers, the left number represents the payoff earned by COMAC, while
the right one represents the payoff of Embraer. If Embraer moves first, what is the sub-game perfect
equilibrium (SPE: the equilibrium you get by backward induction in an extensive form game) in this
game?

a. Embraer enters and COMAC does not enter.

b. Embraer does not enter and COMAC enters.

c. Embraer enters and COMAC enters.

d. Embraer does not enter and COMAC does not enter.

COMAC
Enter No Enter

Enter -2, -1 1,0

Embraer

No Enter 0,2 0,0
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